JAVRRMY—IL TXAMR A:

g VA— b 22T

% R

£ > B120.02%; 42 = > B6 0.05%; %4 A
%?1%’%@&%160005% sOl7I=Z>=I< L
0.03%; O FOAFUBBET A T/VF 1L 0.59

\A\\H

g VA— b 22T

% R

£ > B120.02%; 2 = > B6 0.05%; %4 A
%?1%’%@&%160005% sOl7I=Z>=I< L
0.03%; O FOAFUBBET AT /VF 1L 0.59

\A\\H

g VA— b 227

% TR

£4 =2 B120.02%; &5 = > B6 0.05%; &4 A
%3‘1%@1’50005% o753l
0.03%; O FAaAFUREBIT A7)V ML 0.59

\A\\H

mE: Va—boazZ7

% TR

£4 =2 B120.02%; &5 = > B6 0.05%; %4 A
%3‘1%@1’50005% o753l
0.03%; O FAAFUREBIT A7)V ML 0.59

\A\\H

g VA— b 22T

% TR

£4 =2 B120.02%; &5 = > B6 0.05%; %4 A
%3‘1%@1’50005% o753l
0.03%; O FAAFUREBIT A7)V ML 0.59

\A\\H

[A4/ 2 —)b 86.4X50.8/ &RE : £ 21.2 & 21.8 £4 18.6mm]

4987241149926A
g vVa—boazZ7

% T

B2 B120.02%; E42 X B6005%; %A RFIT I
%%)bﬁﬁﬁﬁiﬁo.OOS%;'7D)l/71:3577l//r>@§i’5

0.03%; 3> FAOAF VBT XA 7IVF UL 0.5%

g vVa—boazZ7

% T

42 3> B120.02%; £ 42 = > B60.05%; %A
%%)bﬁﬁ@iﬁo.ow%;'7D)l/71:3577
0.03%; > FOAFURBIATIVF )DL 05%

TN
A
3
11

mEE: VA— b7

% TR

4 =>B120.02%; £% = /B6005%,Z\7J'
%v’L)l/mEQiEOOOS%,'7D)I/7I_7 <
0.03%; > FOAFURBIATIVF )DL 05%

ST N
A
3
11

g vVa—boazZ7

% TR

E&2 =2 B120.02%; £ 2 = > B6 0.05%; %7
%v’L)l/mEQiEOOOS%,'7D)I/7I_7 D¢
0.03%; > FOAFURBIATIVF )DL 05%

ST N
A
3
11

mEE: VA— b7

% TR

4 =>B120.02%; £% = /B6005%,Z\7J'
%v’L)l/mEQiEOOOS%,'7D)I/7I_7 <
0.03%; > FOAFURBIATIVF )DL 0.5%

ST N
A
3
11



